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Carnauba wax is an example for :

(A) Liquid wax

(B) Soft wax

(C) Hard wax

(D) None of the above

Naturally occurring fats are :

(A) L types

(B) D types

(C) An equi-molur mixture of L
& D types

(D) None

Which of the following is an

example of derived lipid ?

(A) Steroides

(B) Terpenes

(C) Cerotenoides

(D) All of these
The degree of unsaturation of lipid

can be measured as :

(A) Saponification number

(B) Iodine number

(C) Polenske number

(D) All of the above

A polypeptide containing S-S bond
rich in which of the amino acids ?
(A) Proline

(B) Arginine

(C) Cysteine

(D) None of the above

BT JRT Th ISR &

A) fafds da

(B) YT da¥i

(C) TS da™

(D) SR H ¥ Pls Tl

EIWER:IT%\':

(A) Tclo CTgH

(B) Slo ClRYU

(C) Tdo 3R Slo & YBR &I fAyeirg
fHs1or

(D) Py T

= 7 fergee foifUe @1 SR & ?

(A) Rewrge

(B) XU

(C) dfesTeH

(D) SWIa I

fofie @ s @ fS @ Amr
T B

(A) FAFIhHIE o

(B) M o

(C) UriRa! o

(D) SWIa I

X WS de gHE  UiveEs
frfofed & ¥ 59 omHl TR w
TIE B DI TG T

(A) AN

(B) WA

C) RrH

(D) SR & F PIg 81
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6. A beta barrel is an example of : 6. dicT §Rel RT BT SRR B
(A) Primary structure (A) W HGT
(B) Secondary structure (B) AP G
(IC)) 1??12:;11 stn;cture ©) SRR TR
(D) of the above D) NHS S
7. Both DAN and RNA can form in: 7. Slo Uqo To 3R 3o Tqo To Al e
(A) Double helix e
(B) Triple helix (A) ST Sferm
(C) Both (A)&(B) (B) T
0 :
(C) T (A) 3R (B)
(D) None (D) o B
8. Which of the following amino- 8. fy= & 9 fow opfFl TtRie @ erewr
acids unlikely found in alpha- 2folad H U O @GR T8l & °
(A) Methionine (B) e
B) Arginine
E C; o (©) e
roline
(D) All of the above (D) SR
9. Which one of the following not 9. = § ¥ &9 3Ro TUqo To CRCRIRID|
found in RNA ? I © ?
(A) Uracil (A) TR
(B) Guanine (B) MM
(C) Thymine (C) oFHH
(D) None of the above (D) SWRITd Iy el
10.  Which one of the following back 10. fy=fafed § o9 &1 Affs T @R
bone of fats and oils ? ol BT Shd g1 & 7
(A) Glycerol (A) FaRmm
B) Glucose
© Tt cid ®
almitic aci
(©) URe
(D) All of the above
(D) SWIa I
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11.  Proteins are soluble in : 11. 9 ‘ﬂ?ﬁ“@ﬁﬂ B
(A) Benzene (A) i
(B) H.O (B) H.0 #
(C) Aqueous alcohol (C) STl Yedlerd
(D) Acetone (D) TREH
12. The number of amino-acids 12. BAR INR H FRINT eFHl 3wl &
synthesized in our body : TET §
(A) 20 (A) 20
(B) 30 (B) 30
(C) 40 (C) 40
(D) 10 (D) 10
13.  Which proteins are called transport 13. /9= & &9 o @ g U
proteins ? FEd ¢ ?
(A) Ovalbumin (A) 3Ndegf
(B) Hemoglobin (B) SRR
(C) Keratin (©) fefes
(D) Enzymes (D) Yol
14.  Peptide bond formed by enzyme 14. URES §ic U~igH gRT T & :
I (A) B RS
(A) Carbonic anhydrase ®) e
(B) Catalase
(C) Hfesw
(C) Peptidase
(D) Peptidyl transferase (D) Hficfeat R
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15.  In the hair, protein found is : 15. el § WIS 9T ol &
(A) Elastin (A) SeliRed
(B) Myosin (B) ARRE
(C) Keratin (C) fafes
(D) All of the above (D) SWRIEd oI
16.  One gram of protein contain : 16. WM & & U Il ©
(A) 4.3 Kcal (A) 4.3 Kcal
(B) 4.2 Kcal (B) 4.2 Kcal
(C) 5.2 Kcal (C) 5.2 Kcal
(D) 5.4 Kcal (D) 5.4 Kcal
17.  The 3-D structure of protein can be 17.  3-D, W& WA @ FiRa @ o
determined by : Fhdl ¢
(A) NMR (A) NMR
(B) X-ray crystallography (B) X-ray crystallography
(C) Both (A) & (B) (C) THI (A) 3R (B)
(D) None of the above (D) SWRITT ¥ ¥ Ply Tl
18.  Hemoglobin has : 18. MR & :
(A) Primary structure (A) WISH EGT
(B) Secondary structure (B) fgdiad A=
(C) Tertiary structure (C) T WYl
(D) Quaternary structure (D) 5@21 T
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19.

20.

21.

22.

Tertiary structure is maintained by:
(A) Peptide bond

(B) Hydrogen bond

(C) Sulphide bond

(D) All of the above

a- helix has :

(A) 3.4 amino acid residue/turn
(B) 3.6 amino acid residue/turn
(C) 3.8 amino acid residue/turn
(D) 3.0 amino acid residue/turn
Enzymes are :

(A) Proteins

(B) Carbohydrates

(C) Nucleic acid

(D) DNA molecule

The proteins which are simple and
conjugated :

(A) Acidic

(B) Derived

(C) Basic

(D) None of the above

19.

20.

21.

22.

Wi W B IG-—-dd gRI fbar

ST %

(A) Hfes qrs
(B) EESIOIT dIUS
(C) WWIgs dvs

(D) SWIa I
Tl 2ot € :

(A) 3.4 M W /IS
(B) 3.6 3/ 3l /IS
(C) 3.8 IFMRI /Are
(D) 3.0 3R 37 /HTS
TolERI €

(A) IR

(B) WHaTETEsTH

(C) e T

(D) Slo THo To 37

(A) TRifS®

(B) I
(C) NP
(D) SR & F PIg 81
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23.  The characteristics features of  23. URH & fgdlly WA @l faemard @
secondary structure of protein : (A) COO~ T8
(A) COO~group (B) ‘R A
(B) Ester bond
(C) © ggIo dTvs
(C) Hydrogen bond
(D) SWIE ¥ ¥ Bs Tl
(D) None of the above
24.  The amino-acids are linked 24. 3MMI-37 989 & A IS ©
together with bond : (A) H:S W&
(A) HazS group (B) 3aTRe
B) Elastin
(B) ©)
(C) Peptide _ _
(D) SWIE ¥ Pl T8l
(D) None of the above
25. The simple protein or primary  25. WRU WM AT WRIHEG TRET B §
structure is made up of : RN
(A) Amino-acids (A) -3
(B) Glycoprotein (B) TAEH WS
(C) Globular protein (C) TAgeR T
(D) None (D) ﬁ'{f e
26.  Proteins molecule contain : 26. U= A B &
(A) Oxygen (A) 3MadeH
(B) Carbon di oxide (B) T ST ATRITES
C) Nitrogen
©) g (©) TR
(D) Both (A)&(C) :
(D) &M (A) 3R (C)
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27.  During which mechanism ~ 27. &9 @@ @& SRM ARCI@igdT ATP
mitochondria synthesized ATP : T B
(A) Osmosis (A) THIRF
(B) Chemiosmosis (B) DRI
(C) Active transport (C) Ufeqg MREI
(D) None (D) ﬁ'{f T8
28.  The functions of electron transport 28.  geldgl ;;INNIC( %iﬂsicrll e n i
chain are : (A) e ATP 1 91
(A) Make no ATP directly (B) Ao F e § gogeH
(B) To pass e from food to uRe o & B
e (C) T T W Tt B O i
(C) Breaks a large free energy
into a series of smaller steps @ W A st &
(D) All of the above (D) SR T
29.  Which of the following are 29. = ¥ ¥ ETC & SRM Soide™ <rdl
electron donors during ETC ? GGG
(A) NADH & FADH, (A) NADH & FADH,
(B) NADPH & FADH, (B) NADPH & FADH,
(C) ATP, NADH& FADH, (C) ATP, NADH& FADH,
(D) NADH & FMN (D) NADH & FMN
30. The site of the electron transport  30. Soldg™ CIRUC %iﬂsicrll Pl WET ®
chain is : NI
(A) Mitochondria (&)
(B) Outer mitochondrial (B) 9 EeIaggd MR
membrane -
(C) Inner mitochondrial (© A il
membrane (D) afcad
(D) Matrix
Series-D B.Sc.-B017201T/ K-262 Page - 9



31. Intermediate of Krebs’s cycle, is 31. @9 dh & HeIad] & SYIN A
utilized in the formation of amino- /el & o | fopar oar @
acids : (A) WER® R
(A) Citric acid ®B) o TRi
(B) Malic acid
(C) IrgarTsed RS
(C) Isocitric acid X -
(D) a ketoglutaric acid (D) TewT DCFeeR® s
32.  Product of Krebs cycle essential  32.  3NiISfcd BRBRIGRT & ford AaWH
for oxidative phosphorylation is : % ThH D] ITC T
(A) NADPH & ATP (A) NADPH & ATP
(B) Acetyl CoA B) Rica IV T
(C) COz2 and oxaloacetate (©) CO» T o o
(D) NADH & FADH>
(D) NADH & FADH,
33. The building blocks of 33. UciNoNIge & i @us ¢
polysaccharides are : (A) W gfe
(A) Glucose units (B) SERERIES
E]Zi f/[lsacchan;iesid ©) N
onosaccharides .
(D) Carbon molecules ) i
34.  Inulin is a polymer of : 34, ﬁjl((\’ﬁ feh<TehT qgeid g
(A) Glucose and fructose (A) @IS Td haclol
(B) Glucose (B) W
(C) Fructose (C) HacTol
(D) Glucose and galactose (D) @I e
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35. Celluloseisa: 35. ﬁﬂ?ﬁﬂ 2

(A) Heteropolymer (A) fefeurei e
(B) Homo polymer (B) 2R
(C) Dimer

(C) SN
(D) Monomer

(D) HFFR

36.  Which of the following is not a 36. = ® 9§ &N U™ &ET  dl
monosaccharide with 5 carbon JHIINIES 2 ?
atoms ? (A) IERI
(A) Arabinose

(B) ifzdello
(B) Xylulose

(C) fege
(C) Trehalose

D iﬂc_*l i
(D) Ribulose )

37.  Which of the following analogous 37. T E 9 PF RH & THNN §
to starch ? (A) Qﬁg(—vﬁry[
(A) Cellulose (B) TSR
(B) Glycogen

(C) g

(C) Sucrose
i (D) Wrefe

(D) Chitin

38.  Which of the following are the 38. f79 # ¥ ®F WIS UINaRISS

structural polysaccharides ? g7

(A) Glycogen (A) IIECANR
(B) Cellulose (B) ﬁﬂ?ﬁﬂ
(C) Chitin (C) drgfed
(D) Glucose (D) ‘?{cﬁﬂ
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39.  Polysaccharides which have same  39. UlciNigNss " WM UHR &I
type of monosaccharides : HHIGMISG BT ©
(A) Glycogen (A) TATSHIH
(B) Homoglycan (B) BMFTS®M
(C) Heteroglycan (C) fRfexr wersam
(D) Oligosaccharides ) IEIERIRENES
40.  Which of the following is an 40. = # ¥ o9 J&RId W IR
example of bacterial & yeast UTlINISE & ISR 2
polysaccharides : (A) wrd
(A) Starch
(B) Glycogen ®)
(C) Cellulose © Wﬂ
(D) Dextran (D) SHIH
41.  This enzyme catalyzed first stepin ~ 41. I8 TSZH o THo Glo URIA & UGS
EMP pathway : PeH DI URT Pdl & -
(A) Enolase (A) eret
(B) Kinase (B) T
C) Hexokinase NN
ED; None of the above ©
(D) SWEd ¥ | P18 el
42. In EMP pathway, the process by  42. o THo Ulo URId & fbd Ulhal # To
which ATP is formed : o Qo fierar 2 -
(A) Reduction (A) TH
(B) Oxidative phosphorylation (B) Ao N
(C) Substrate level
(C) 9sd¢cT oldel B RIgelRIA
phosphorylation _ _
(D) None of the above D) ST ¥ 3l T
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43. How many molecules of ATP 43.  TARHNGAIN & SR To Clo Yo @&
synthesized during glycolysis ? febereT 319 T B © °
(A) 36 (A) 36
(B) 38 (B) 38
€ 2 (C) 2
(D) 4 D) 4
44.  Which of the following is a not a  44. f=faRad & I B ‘?{(ﬁ?{ CIRCIGIRN
polymer of glucose ? T & ?
(A) Glycogen (A) TATSHIH
(B) Cellulose (B) Wl
(C) Amylase (C) THIgeI
(D) Insulin (D) sgfor
45.  Glycogen synthesis is occur in : 45.  ToTgdoE RiORN Bl B
(A) Heart A) fed
(B) Kidney (B) fdeit
(C) Muscles (C) e
(D) All (D) SWIa I
46.  Gluconeogenesis occur in the liver  46. ‘?{cﬁﬁﬁﬁﬁﬁﬂ AR 3R W f 3T
and which organ : 2 B
(A) Kidney (A) Tde
(B) Muscle (B) HrawRl
(C) Heart (C) fea
(D) All (D) SWIG T4
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47.  Enzymes concerned with the citric ~ 47. Jfcd TRIS a% § 9T WM 9l
acid cycle are found is the : TSITgH B &
(A) Nucleus (A) B=d
(B) Ribosomes (B) NEEIRiIEs!
(C) Mitochondria (©) ECIpif~gal
(D) E.R. (D) %o 3Ro
48.  Which one of the following is 48. 7 ¥ q WRRFRES H ¢ ?
monosaccharide ? (A) Heel
(A) Maltose (B) W
(B) Sucrose ©) S —
(C) Fructose ) N
(D) None
49. The end product of glycolysis 49.  TIRIAS TRl @ fd # off<m
under anaerobic condition is : Ide BT 2
(A) Lactic acid (A) dfded ard
(B) Pyruvic acid (B) trrgﬁﬁm =
(C) Acetoacetic acid ) TR e
(D) All (D) SWIa I
50.  Which of the following is not 50. ¥/ H W T@IMINHRNE T FHge
substrate for gluconeogenesis ? PN TEl B ?
(A) Lactate (A) EE
(B) Alanine (B) Tl
(C) Glycerol (C) Faftwre
(D) Acetyl CoA (D) TRHfeet BTed T
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51. An average protein will not be 51. TU® 3d WH o ﬁW Tel faar
denatured by : SR
(A) SDS (A) SDS
(B) Heating to 90°C (B) 90°C d& Tl-yf[ DT
(©) 1AA (©) 1AA
(D) pHI10 (D) pHI0
52.  Among all the heat shock proteins ~ 52. 31 @i # &9 1 g WMH WH o
which one 1s known as AW &) aE T S §
chaperonins : (A) Hsp70
Sp
(A) Hsp70
(B) Hsp32
(B) Hsp32
H
(C) Hsp60 (€) Hsp60
(D) Hsp30 (D) Hsp30
53. How many bases are present in per 5. ZDNA & U& o4 W fbad 99
turn of Z-DNA? SUReIT B &
(A) 10 (A) 10
(B) 8 B) 8
(©) 11 ©) 11
(D) 12 D) 12
54.  Which of the following binds the  54. 49 # ¥ B m-RNA & Iz I
m-RNA to the ribosomes ? SredT & ¢
(A) t-RNA (A) t-RNA
(B) Nucleus (B) e
(C) m- RNA itself (C) m-RNA %
D) None of the above : :
®) (D) W § B T
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55.  How many base will present in one 55. DNA @ U% ¢4 H 9 IR 8 @
turn of DNA : (A) 4
(A) 4 (B) 5
(B) 5 (C) 10
(©) 10 D) 2
(D) 2
56.  Histones are : 56. feweM -
(A) Neutral (A) g
(B) Positively charged (B) TuIifcaet 4 S
(C) Negatively charged (C) frIfcaen = S
(D) All of the above (D) SWIEd ol
57.  Process which leads to synthesis of 57.  fafr R 3o Uqo To YT Bl
RNA is called : 2 Ped ¢
(A) Termination (A) R
(B) Transcription
(B) gTfsh=
(C) Replication
(C) Neelieper
(D) None of the above
(D) SWIE ¥ I3 T8l
58. Name the RNA which is used to 58. Y9 3dRo TUdo To ® I8N § 9a” o
carry the genetic information Hfed gae B IR wxar & N
copied from DNA : Slo To To I fierdr & -
(A) r-RNA
(A) r-RNA
(B) m-RNA
(B) m-RNA
(C) t-RNA
(C) t-RNA
(D) SnRNA
(D) SnRNA
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59.  Anticodon present in : 59. UUdpIeM SURe BNl ¢
(A) DNA (A) DNA
(B) mRNA (B) mRNA
(C) r-RNA (C) r-RNA
(D) t-RNA (D) t-RNA
60. Identify the complementary strand ~ 60. ATGATC @ &ame! %we Udl
of ATGATC : A
(A) ATGACC (A) ATGACC
(B) TACTAG (B) TACTAG
(C) TTAGTC (C) TTAGTC
(D) None of the above (D) SWRIGT DIy Tal
61. Which of the following statement  61. {9 ¥ & &9 91 U Fel ¢
is correct ? (A) TfeH RN &
(A) Adenine is pyrimidine (B) o To To i i—uRie I
(B) DNA is made up of Amino- S 2
acids .
(C) TRHNES & U BRORY el
(C) Nucleoside do not contain
phosphorus T §
(D) All of the above (D) SHRIa T
62. Which of the following base 62. 4= # 3 fooeH 2 Pl NG g
contain 2 Keto group ? (A) T
(A) Adenine (B) M
(B) Guanine ©) T
(C) Thymine
(D) Cytosine D) HECTe
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63.  RNA in hydrolysis does not yield : 63. 3Ro Tdo Vo BISSICINRT § Fe! g &
(A) Amino-acids (A) M 3
(B) Pentose sugar (B) U IR
(C) Nitrogen base (©) REMSREER
(D) Phosphoric acid (D) BRSNS RS
64. Molecule which lower the enzyme  64. H]?vﬂ‘cﬂl?[ ST UST8H @1 dicfolied X @l
catalytic rate is called : H¥ TRl €, Ped © -
(A) Regulator (A) NeleR
(B) Repressor (B) Rorer
(C) Inhibitor (C) FfRfdex
(D) Moderator (D) ATV
65. The plot commonly used for 65. Wi W WHNIT Vinax @ aﬁl @I Tl
determining the value of V,,,,, is : I H JINT R ST
(A) Line weaver Burk Plot (A) oF AR 0 e
(B) Langmuir Plot (B) W wfle
(C) Eadie Hofstee Plot (C) VS B! e
(D) All of these (D) SWREd ol
66. The turnover number is also  66. T 3R To B W HTT T &
known as : (A) K,
(A) Ko (B) Keqe
(B) Kea © Ko
(©) Keam
(D) K,y (D) Keaa
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67. In how many forms, enzymes 67. UGTgd & fohamell # vomegH fobae oM ¥
exists in an enzymatic reaction: fArerar 2
(A) 2 (A) 2
B) 3 (B) 3
© 1 (C) 1
(D) 4 (D) 4
68.  What is enzyme kinetics ? 68. UG Plgifced aT & :
(A) Study of [S] (A) [S] &1 3Eggq
(B) Study of rate reaction (B) fohar & R &1 3y
(C) Study of initial velocity (C) URMNE T T g
(D) All of the above (D) IR T
69. Which of the following is an  69. {79 § ¥ &9 Ufadl RS ¢ :
example of reversible inhibitor ? (A) STZHfchR
(A) Discelfiran (B) AR
(B) Oseltamiver © Mevs g
(C) Protease inhibitor
(D) Slo g0 Yo Tho
(D) DIPF
70.  The rate determining michaelis- 70. HW%R?—H*C# GRS IR ¥
menten Kinetics is : fSexmrsf+T WY B
(A) The complex dissociation (A) R SR B SAET TR B
step to produce products forr SIfeet wRramvor Hew
(B) The complex formation step (B) Wifcel Teq BaH
(C) The product formation step (C) SdI femioT ZRoT
(D) None of the above (D) SWRIGT H F BIg el
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71.  t-RNA means : 71.  t-RNA &7 7ol 81l & :
(A) Transport RNA (A) STAUIE 3fRo To To
(B) Tetra RNA (B) <gT 3Ro To To
(C) Target RNA (C) TRIE 3MRo THo Vo
(D) Transfer RNA (D) SNM®Y 3Ro To To
72. m-RNA synthesize in : 72.  m-RNA RN 81 & -
(A) Cytoplasm (A) SIS NG|
(B) Mitochondria (B) HAISCIGI=gal
(C) Nucleus (C) T=d
(D) None of the above (D) SWRITd H F I3 T8l
73.  Koshland proposed which model : 73, PIEIS | BF T Aed yRaifad o
(A) Fluid mosaic model (A) YIS ARl A
(B) Induced fit model (B) URd fhe died
(C) Lock &Key model (C) el 3R T Afed
(D) None of the above (D) SR H ¥ Pls Tl
74.  This enzyme was first isolated and 74. 9 UG B Ugl fheed & ®U H
purified in the form of crystals : 31T 3R N forar T o7
(A) Urease (A) I
(B) Pepsin (B) Uit
(C) Amylase (C) THG o
(D) Ribonuclease (D) ?Eﬂﬁ?{ﬁﬂ?ﬁ\_ﬂ
Series-D B.Sc.-B017201T/ K-262 Page - 20



75. The enzyme which hydrolyses  75. I Bl Wiceldl H BIgSIcgl HR- dlell
starch to maltose is : ToTlgH ¢
(A) Protease (A) T
(B) Amylase (B) UHISe
(C) Lactase (®) e
(D) Maltase (D) ool
76.  Enzymes are polymers of : 76.  USITSH ERREY R R
(A) Hexose sugar (A) T IR
(B) Amino-acids (B) 3FI o
(C) Fatty acids (C) IR AT
(D) In-organic phosphate (D) JHEMS BRHT
77.  Zymogen or proenzyme is a : 77. sFi GRS IIT gd Udh g
(A) Modulator (A) W
B) Vitami AT
(B) Vitamin ®)
(C) Enzyme precursor _
(C)  TolleH U
(D) Hormone
(D) &M
78. The combination of apoenzyme 78. TUUIUGTZH U4 HIVGIEH &1 FIOH © :
and coenzyme : (A) SEINSIES
(A) Holoenzyme :
(B) TWilgH AsA¢C Pl
(B) Enzyme substrate complex
(C) TR I
(C) Prosthetic group
(D) All of the above (D) ST T
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79.  An enzyme that joins the ends of  79. TU& UWgH o reﬂc\mdp I T < T
two strand of nucleic acid is : & RRI & e @ :
(A) Polymerase (A) EICIGE
(B) Ligase (B) ENE
(C) Synthetase (©) fRferca
(D) Helicase (D) gferdr
80.  The coenzyme is : 80. PIUSIH & :
(A) Often a metal (A) 3R TP 4]
(B) Always a protein (B) e U T
(C) Often a vitamin (©) TR T R
(D) Always an inorganic
(D) NI Uh AFEHS Afd
compound
81. ATPisa: 81. To o To & :
(A) Nucleoside (A) qﬁﬂ?ﬂﬂ@
(B) Nucleotide (B) ?{f%f?vl?ﬂaﬁ
(C) Vitamin (C) fdaifa=
(D) Nucleic acid (D) ket TS
82.  Uridine present in RNA is : 82. RNA ¥ Sufefd qﬁéﬁ g
(A) Nucleotides (A) qﬁwﬂm
(B) Pyrimidine (B) UWERFEH
(C) Purine (C) =
(D) Nucleoside (D) YRS
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83.  Purine base of nucleic acid is : 83. ?{ﬁﬂ‘cﬁ Rre ¥ W Gre i
(A) Cytosine (A) SICRIM
(B) Thymine (B) omgHH
(C) Uracil (C) T
(D) Adenine (D) SEE
84.  Which pyrimidine base contains an 84. ford UERMAESH o9 & @99 IR W 16
amino-group at carbon ? 3MHl g BT § °
(A) Cytosine (A) geN
(B) Thymine (B) AR
(C) Uracil (C) W
(D) Adenine (D) \SEE
85.  How many nucleotide bases occur  85. ?{ﬁﬂ‘cﬁ ufre ¥ foae :{ﬁﬂ?ﬂ?@@ CRl
in nucleic acid ? R
(A) Five (A) U
(B) Four (B) TR
(C) Infinite (C) ard
(D) None of the above D) SR ¥ P
86. The information for protein  86. U WYY & WHGR TURT BNl &
synthesis is stored in : (A) M 3
(A) Amino-acids (B) T
(B) Fats ©) ——
(C) Glucose
(D) Nucleic acid ©) W i
Series-D B.Sc.—B017201T/ K-262 Page - 23



87. Z-DNA havea: 87. oI —%lo Tdo Vo BT & :
(A) Double helical nature (A) 9 glordd UG &l
(B) Zig-zag appearance (B) F—sn Rame
(C) Uracil base ©) TR ¥
(D) Single stranded nature D) Rt B T
88.  Left handed DNA is : 88. g BRI @1 Slo To Yo & :
(A) A-DNA (A) T —<lo To To
(B) B-DNA (B) d —<lo To To
(C) Z-DNA (C) TS —Slo THo To
(D) C-DNA (D) ¥ —<lo To To
89.  The width of DNA molecule is : 89. o To To 3] I gt Bl ¥ :
(A) 15A (A) 15 A
(B) 34A (B) 34A
(C) 20A (C) 20 A
(D) 25A (D) 25A
90.  The type of sugar in DNA are : 90. 2o To To H U T AT TR 7 -
(A) Triose (A) ZTRM
(B) Tetrose (B) <g™
(C) Pentose (C) U=<MN
(D) Hexose (D) i
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91.  The length of one tern of DNA is : 91. Slo To Yo Pl UH 1 &l o918 BNl &
(A) 34A (A) 34A
(B) 34 A (B) 34A
(C) 20A (C) 20A
(D) None of the above (D) SWRIGd H F g Tl
92.  Chromatin is composed of : 92.  HAfeT AR & BT B
(A) Nucleic acid & protein (A) gl TRTS IR U
(B) Nucleic acid only (B) =fderd TS dhad
(C) Proteins only ©) IR Sl
(D) None of these (D) T W By el
93. Two strands of DNA double helix 93. Slo Tdo TUo Tddl g @ gl ?ﬁ@'
is joined by : \_{lé B &
(A) Co-valent bond (A) Pl 08
(B) Hydrogen bond (B) EIgHIoH 9108
(C) Ionic bond (C) Irafid qvs
(D) Phosphodiester bond (D) RO 108
94. DNA is present in : 94,  Slo THo To IURIT BT B :
(A) Nucleus & mitochondria (A) W AR AT
(B) Nucleus, mitochondria & ER (B) e ) I
3Ro
(C) Ribosomes
(C) NrgdrER
(D) All of the above D) SR gl
Series-D B.Sc.—B017201T/ K-262 Page - 25



95.  Genetics mutation occurs 1in : 95. SHfe® P@‘QFI BT B
(A) Protein (A) e o
(B) RNA (B) 3Ro THo Vo H
(C) DNA (C) Slo To To ¥
(D) Nucleus (D) T |
96. A nucleoside is composed of : 9. Ud reii?mulwss PR §T B
(A) A base & a sugar (A) Ud 99 3IR UM
(B) Only base (B) ®dd ¥4
(C) Only Sugar (C) & GR
(D) None of the above (D) SWEd H $Ig Tel
97.  Which of these is not a lipid ? 97. 3 W o W forfis 7RI ?
(A) Fats (A) a9
(B) Oils (B) dod
(C) Proteins (©) rict
(D) Waxes D) S
98. Molecules act as chaperons to  98. 3] N BifeeT # anffad dRE @
assist the folding of protein : TNE PR Pl &
(A) Vitamins (A) e
(B) Carbohydrate (B) ®EEESC
(C) Amides (C) UHIgs™
(D) Lipid D) Rifts
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99.  Beta-oxidation of fatty acids takes 99.  dicI-3MaiSYH Bl & ¢
place at : (A) RS
A) Peroxisomes
(A) (B) AgerERE
(B) Mitochondria
(C) WISTIIgaT AR TR
(C) Mitochondria & Peroxisomes
D o 3No
(D) E.R. (D) <
100. Dietary fats are transported as : 100. 3MER & w9 H of S drefl a9 &
(A) Chylomicrons (A) TEAHRDA
(B) Liposomes (B) TgUrim
(C) Lipid globules ©) fafte RPN
(D) All of the above (D) SR )
Khkdkhk
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the answer will be marked as wrong.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination, please hand over the O.M.R. SHEET to

the Examiner before leaving the examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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